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‘Known to unknown’ is a :

[

19 ¥ IS P AR L, T

(A) Teaching Method (A) Fregor fofy
(B) Teaching Maxim (B) f il
(C) Teaching Technique (©) FrE Fade
(D) Teaching Device
(D) feror o
Teaching strategy is a : L fRregor EREEI g:
(A) Plan to achieve objectives (A) ST BT UK FRA Bl AT
(B) Method of teaching (B) R & AR
(C) Extra activity in the class (C) e ¥ R R
(D) None of the above : ‘
(D) ST A & B¢ Tel
Personality traits of Mesomorphic individuals 3. JAAHR TRING G el Afad § I o
are ; el Afdered o7 & €
(A) Traditional and soci?l (A) WARMER! T§ FHIRE
(B) Peace loving and solitary g
(C) Energetic and angry (B) Eﬂﬁﬁr ; 'mq;l;;m o
(D) None of the above ©) E,‘?l g
(D) Sww & ¥ BE &
In team teaching, a team of : 4. <ol g § @ 2
(A) Teachers, who prepare the teaching plan (A) TR FT, W Reor o B TR W
and implement it I9F Fharags o &
(B) Students, who prepare the teaching plan (B) B3 &, W R A5 31 TR 3X a9
and implement it firaraaT avar 2
(©) 121;??5 a;nd St‘;d?ntsf who prepare the (C) wE@t @ B @ o RE e @
g plan and implement it
(D) None of the above BRI Eb_‘r Sl W T &
(D) ST ¥ | B T
The level of anxiety which makes student 5. A &7 98 &N 9 9F & 9 @ o SR
receptive of learning is : AL dE &
(A) No anxiety (A) fRiaT 7 &M
(B) Excessive anxiety (B) sl R
(C) Norm:al anxiety ' - © B
et
(D) Learning has no relationship with anxiety D) KTl ( ) a1 ﬁﬁﬂﬁ 35\”5‘ TP
“It is wholehearted purposeful activity 6.  “¥g WHIf® dERY § AT fhar 9 aren
organised in social environment.” This TS LAY fhardam & " I8 FoF fem
statement indicates towards which teaching 7Y fra R 3 ok G Pvar 2 ?
method ?
(A) Demonstration (4) yaEd
(B) Heuristic (B) TIRRT
(C) Problem Solving (C) 9T |4
(D) Project (D) UNlae
Right to Education Act, 2009 has a provision for : 7. et &1 JfeR IfRAfRM 2000 ¥ grawE 2
(A) Right to free and compulsory education (A) ﬁf;‘\’lﬁﬁ U4 afyard R &1 IR
(B) No mental and physical punishment to (B) WP P TR T4 RS Tve BT Py
child e . :
(C) Arrangement for protection of child rights (©)  JRE Pl A
(D) All of the above (D) SWH w4
While assigning a ‘project work’ to the 8. BEl B TRIGH B 4 T UH REF B
students, a teacher should always keep in : .
mind that it must have : g b Sl ?JIFTF ﬁ;g g{ﬁq 1% e
(A) Educational purpose (A) &l )
(B) Relation with real life situations (B) Wdy qrefds Siiad @ gRRefoal 4 &
(C) Learning by activity (C) AT far grT &1
(D) All of the above (D) I w4l
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9.  While doing group teaching, out of the 9. WFfedH-Ew Fd w7 el @1 afda
following, which method you will apply to IR & HHEE gg fr=fofRag § 9 a0 &9
solve individualized problems of each student? & Ry &1 vgrr Fa ?

(A) Lecture (A) T

(B) Programmed Instruction e EW
(C) Tutorial (2) ?ﬁjﬂﬂ

(D) Demonstration ED))

10.  The behaviour of a teacher may be from ‘verbal’ 10. WQWUT 120 O 4 ) O |
to ‘non-verbal’ in communication process. ‘sonfeed dF & Hahdr 2|
(A) Itistrue (A) 6§08 &

(B) It is not true (B) TE Tad &
(C) It is partially true FRF T Y
(D) None of the above Eg)) ;%ﬁ ¥ :_? §

11.  Why micro—teaching 1is important for 11, S5 T i\\g H\&H—QIHUT R AT © 7
classroom communication ? (A) ti'g_tmw g—d
(B) To develop various skills
(C) To complete the lesson (C) WS Tﬁ L %?,I
(D) To evaluate (D) e [?‘g

12.  As a teacher, if you want to correct the bad 12.  eAUe 8 @ A afe Iy foedt faemft & Eﬁbf
habit of a student, which theory of learning ed B QR Tred &, df fhareas e 9
yo:..l w(i)ll keep in mind while planning the THT 3T A @ e Rigid o e § X
action ? aﬁﬁ{fé Rreid
(A) Insight Theory (A) R
(B) Trial and Error Theory (B) I T4 gﬁr
(C) Classical Conditioning Theory (C) IrET e g
(D) Field Theory (D) &3r Rigra

13.  Personality of an individual is which aspect of  13.  fdtica, {5l afekd & deR &7 B a1 %7 & ?
his behaviour ? (A) GEHHS Ug
(A) Cogmtlve 'a.spect (B) ﬁq_w oy
(B) Non-cognitive aspect (©) ifee w
(C) Intellectual aspect D
(D) External aspect (D) S 94 _

14.  The practical method to make student understand 14. frafRl &1 #foq vl &1 o FHgm @
the meaning of the difficult word is to : wagiRe fafy &

(A) Teach them usage of such words in (A) S Wt @Y aradt ¥ ganT e TS
sentences S )

(B) Give their antonyms (B) e el I

(C) Give their synonyms (C) wATRf g FET

(D) None of the above (D) Wjﬁ 43 B1g T

15. A child is scared when he see black dog, black 15. TP qa9d Flel aﬁ @Tell facell U9 PIed dle &l
cat and black coat. This conditioning is TEIR T AN T B | FH VIR B A H
involved in : fafed &

(A) Generalisation of response (A) 313@7—&1' 671 W
(B) Generalisation of stimulus (B) SENG P ARG
(C) Both (A) & (B) (C) 2 (A) 3R (B)

D) None of the abov:

(D) None of the above (D) I"fﬁiﬁﬁ?’f@f

16.  What is the real carrier of hereditary traits ? 16. angaﬁras T’ﬁ T IRAAD Haed T & ?
(A) Chromosomes (A) T g3
(B) Nucleus (B) %H
(C) Genes ©) S
D) None of the ab :

D) o7 e AbovE (D) SE & ¥ B T
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17. One of the following is not the method of  17. f=feRad § ¥ ve ¥ A= &) Ay =55 &
educational measurement : (A) THEHR
(A) Interview (B) W—Wﬁ“lﬂ q-aa:{vr
(B) Norm-referenced Test (C) e
(C) Questionnaire )
(D) Observation (D)
18.  To wunderstand the heredity, you must 18. w@;ﬁq DI g9z & o g AIITH W A
understand : FHSHT BT
(A) The law of similarity (A) GHFAT $T o
(B) The law of variation (B) fawar 1 fram
(C) The law of regression
(D) All of the above 8 ”'%"i ""ﬂg frrem
19. Which step is not included in Action Research?  19. Uit 38 # @19 W1 ug afdferd &l g &2
(A) Selecting the problem (A) 9ARIT P 979
(B) Generalisation of results (B) aRumE T G
(C) Formulation of action hypotheses | () fhaTcs TR BT T
(D) Preparing plan to overcome the problem
(D) THRT B T B B forq Ao fHfor
20.  From the following, which one is not the 20. fA=faRad & 9§ @9 45 927 Ao Tq R
element of ‘guidance and counselling’ ? BT IAT AR & ?
(A) Adjustment (A) FHRIGH FT
(B) Orientation G“j@w
(C) To develop emotions (B) N %T
(D) None of the above Eg)) : Eﬁgl N ﬁ‘é?ﬂw
21.  While writing on the blackboard, out of the 21. MU W forad T, eR BT HBR 99 B
following options, what will you specially keep D ford o 5 91 &1 fa9w eg < ?
in mind to decide about the size of letters. WIS fenforal
(A) Distance between blackboard and students Eg; IS g B o ;ﬁ%@
(B) Distance between blackboard and teacher
(C) Length of classroom (C) P-4 AL :
(D) None of the above (D) SWH H | P TE
22, The cognitive behavioural skill of enabling the 22,  HIMFHD FAERITd BIE & I=qid faenef &
learner, to understand the use of theoretical He~ad dUA & IYANT & avafas IRRafyat
statements in real situations is called : H I B W 99 PEd &
(A) Understanding (A) F@am
(B) Application
(C) Analysis (B) S
(D) Synthesis (©) faerm
(D) Helyo
23.  From the following, which is the best method ~ 23. fA=feiRad § ¥ &) feneff & araRe =t
of measurement of a student’s inner feelings ? P HIY P Harm gy aF & & ?
(A) Questionnaire (A) PECICE
(B) Interview (B) WEIHR
(C) Sociometry Af
(D) Transplantation method Eg; ARy
TEIRIT
24, Teaching aptitude means : 24. 3y sffTgdr @ dregd g
(A) Devotion towards teaching work (A) e e 3 ufe 9o
(B) Desire to become a teacher (B) Rwd T @ 9T X@T
(C) All the requisite abilities for profession (C) P  aam € @ qifsd draan)
of a teacher . e
(D) Good rapport with student (D) BT & 3eBT
25/39 87/107 D-3




25. How will you mainly develop self-discipline 25. 3 3ue faenfRai # q= iR W IR
among your students ? g uypR faafd a9 ?
Eg; glrlmg ttl}l‘em reslporil?sibilitizs - (A) B SeReie R
elling them rules for good character = TR
(C) Giving punishment (B) Wg @
(D) Following the rules E[C))) m:i' i i
26. A teacher plans his teaching learning process ~ 26. & fiefd 3 R ufshar @ A
keeping in view : T T S H T §
(A) The objectives formulated (A) ffifg Seew
(B) The human and physical resources (B) WFG T4 ARG GEH
(C) Both (A) and (B) ) 3 (A) T (B)
(D) None of the above ED)) ! ( ﬁ){ %aﬁ(g o
27.  Which of the following is not the element of ~ 27. fy=fRad ¥ & 9 W ‘S0 RaA DRI
‘Stimulus Variation Skill” ? H I TRl B 7
(A) Set Induction (A) =T IROT
(B) Movement (B) WaeH
(C) Gestures
(D) Change in voice g Sgi‘“’a s
28. Intelligence tests are used for : 28, gfg weoil @1 IR foan e @
(A) Grouping the students in school (A) foemem & st & g oo TGE: |
(B) Guidance purpose (B) e 3 yaeH %_g’
(C) Selection purpose e
(D) All of the above EIC))) fm:f; ?b_\:ﬁiﬁ ?‘g’
29. What is not essential for measurement of  29. fNTH HIUH B B ford T MAYIS TEI ® ?
learning ? (A) TRweror @I Jfeai 1 gar o
(A) To know tactics of teaching (B) et @ AT S BT
(B) To know validity of examinations ©) et & ReaeEa S &3
(C) To know reliability of examinations - Pt
(D) To know acquired skills of the students (D) &R 3§
30. The curve indicating complete information  30. 3fFM & IR ¥ T TSGR T T aTd T
about learning is called : P HET Ol E
(A) Curve of increasipg return (A) E[ﬁ&rqﬁ Jadq 9%
(B) Curve of decreasing return (B) ERHM T T
(C) Curve of equal return :
(D) S—Shaped Curve Eg)) Q'H” ! a_;?ﬁ
31. In which type of lever, the weight is in 3. {59 USR & SHAd § YR, 9 dAT JTHE D
between force and fulcrum ? daHeEag?
(B) Type-II (B) Y11
(C) Type-IIl () TREII
(D) All of the above B
(D) ST T
32.  The time taken by a projectile to reach to the 32, U@ U&iW gRT U+ Y&UdsH P! AIC! db Q‘g"ﬂﬁ P
F:)ik ,lllfight (;‘t;]i.ts }:rajectory, is called : forg o 999 B HET WIdT & ?
1o of St (A) SSM BT T
(B) Time of ascent Fief‘ -
(C) Time of descent (B) e i
(D) None of the above (©) ?;ﬁ;\rg &
(D) SugH
25/39 87/107 D-4



33.  The word “Obi” is related to : 33, «3if v AT R
(A) Boxing (A) Yabarell |
(B) Wrestling (B) &% &
(C) Tiquando C m’ J
34.  Brady’s Volleyball test components are : 34 §3 il W B UTh &
(A) Volleying and Serving (A) dfell T T afdg s
(C) Volleying =
(D) Volleying, Serving and Smashing Eg)) g g T BT T TER Gl
35.  What is weight of handball for men ? 35.  goul & foy gvedial & 9R fper g & ?
(A) 325-375 gm. (A) 325-3759M
(C) 425-475 gm.
C) 425-4757M
(D) 450 — 500 gm. ED; gk
36. Softness of bones is called : 36. Efesdl @ DMad Bl ded § -
(A) Osteoporosis (A) 3NMReAIRIRE
(B) Osteomalacia (B) fcarefmt
(C) Osteoblast (C) dRediere
(D) Osteoclast :
(D) AR
37. Body Mass £ndex (B.M.I) _is given by : 37.  4r€ ard 3o’ (FI0THONTE0) BT ST SIrell &
(A) Helght'(?n mtr.) / Welght l(in Kg) (A) a2 (Fo H) / AR (famo #)
(B) Weight (in Kg) / Height? (in mtr.) B) 7R (o ¥) / S (o ¥)
(C) Height*(in inch) / Weight (in Ibs) () Sur (§a %) / 9K (q9vS )
(D) Weight (in Ibs) / Height? (in inch) (D) R | %)/ S (o )
38.  What is ‘Ashes’ in cricket ? 38. fhac d W @ ?
(A) Test series between India and Australia (A) MR 7 IRLHorT & 99 o ¥ d
(B) Test series between India and England (B) 9Rd 9 3008 @ 419 o AN
(C) Test series between Australia and England (C) ITEfem 7 dve & 9/ o A
(D) None of the above (D) Gﬂ'{i?ﬁ ¥ % T
39.  Supination and Pronation movements are  39. AT 3R IYEdT TIIAr gEE ¥
associated with : (A) fe-ae afr 9
(A) Radio—Ulnar joint (B) e @ 9y @
(B) Elbow joint ©) 4 3 Ay Y
(C) Shoulder joint 2 oy J
(D) Knee joint (D) ged
40.  The difference in pressure between systole  40. RFEIf IN TTRITF T@ & IR 3| Bed
and diastole is called : g
(A) Blood Pressure (A) X @
(B) Pulse Pressure (B) 7 T
(C) Osmotic Pressure i 5
(D) Diastolic Pressure © e
(D) SRR TE
41.  Harvard step test is used for measuring : 41. S HH WE BT YA AT T
(A) Agility (A) Wi A #
(B) Cardiovascular endurance (B) BT ¥ H’GI?{d’l oy A
o () wfi A &
(D) Flexibility (D) @ A 3
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42.  Sternocleidomastoid muscle is situated at : 42. wAoeiEEs v Reud i g
(A) Neck (A) T R
C) Bac
%D; - (©) 6 ®
(D) R®
43. World Ante Doping Agency (WADA) was 43. dos USl SIfUT Uil (@E\’J‘{\OE’O@[OQO) CARSILEI
established in : :
(A) 1995 A.D. (A) 1995 20 &
@ 14D 5 o
(D) 2001 A.D. (C) 1997 %0 %
(D) 2001 %0 #
44.  The Goal Line Technology (G.L.T.)is mainly ~ 44. 7idl @Ige dd-d (Soveloclo) J& w9 ¥ foba
used in which game ? W § SUONT @ S E 7
) ke w 28
(B) Handba =
(C) Football (g) i
(D) Netball (C) THA
(D) “cdid
45. The duration of ‘time-out’ in Kabaddi  45. <l UGN H CRA-AST Bl g Bl &
competition is : (A) 20 HHUE
(A) 20 seconds (B) 10 W&vs
(B) 10 seconds e
(C) 15 seconds (](;) 13 JETE
(D) 30 seconds (D) 3
46. The trachea and the oesophagus are separated ~ 46.  SaIcl 3R A AfeidT B Fadl d TS BIC
by a small flap of tissue is called : ¥ e R 3 fpar oI €, 9 PEd § ¢
(A) Oesophagus (A) BT
(B) "Latyis (B) Raw
(C) Oropharynx p YR
(D) Epiglottis (©)
(D) gdrefes
47.  Which of the following events is not included 47. SEHReH # fEfafad § 9 o9 @ g
in Decathlon ? 9ifaer F8f & ?
(A) 200 meter (A) 200 #Aex
(B) 400 meter
(C) 110 meter hurdles \B 400 ﬁ
(D) 100 meter (C) 110 HR EeT
(D) 100 HIex
48.  Diathermy is a method of : 48. M UH NS ¢
(A) Active warming up (A) Hfpa aiffT—am &
(B) Cooling down (B) I T Pl
(C) Passive warming up (C) Fifsa affr—ag &
(D) None of the above (D) EITQ?H ¥ QP
49. The length of the Javelin throw for men 49. AT BH H Hﬁﬁﬁ o foR) Wl o T=E |
should not be less than : FH F2l 8 AR
(B) 2.65 meter '
(C) 2.70 meter By ean ?ﬂg
(D) 2.75 meter () 2.70
(D) 2.75 AR
25/39 87/107 D-6



50.

51.

42

53.

54.

55.

56.

57.

An International Basketball Federation (IBF)
was set up in the year :

(A) 1932 AD.

(B) 1912 AD.

(C) 1926 A.D.

(D) 1908 A.D.

For any disease or disorder of skeletal
muscles, the term used is called :

(A) Myositis

(B) Myology

(C) Myography

(D) Myopathy

Who among the following is known as the
father of kinesiology ?

(A) Archimedes

(B) Cladius Galon

(C) Sushruta

(D) Aristotle

Factors determining the endurance are :
(A) Aerobic & Anaerobic capacity
(B) Energy Resources

(C) Psychological Factors

(D) All of the above

Which of the following is not considered as a
“mother sports” ?

(A) Athletics

(B) Aerobics

(C) Swimming

(D) Gymnastics

The ‘Ethmoid’ bone is related with :
(A) Forehead

(B) Ears

(C) Jaw

(D) Nose

For shuttle testing in Badminton, the mark for
slow shuttle is :

(A) 900 mm from end line

(B) 990 mm from end line

(C) 500 mm from end line

(D) 530 mm from end line

‘Battle door’ is the ancient name of which
game ?

(A) Badminton

(B) Boxing

(C) Wrestling

(D) Kabaddi

50.

Sl

52.

53.

b3

56.

58

FRET adedid HewWH (AML00TH0) B
v fasar T o

(A) 193230 H

(B) 191230 #

(C) 192630 #

(D) 1908 30 H

Ford AUREl @) e @ SR 1 fIeR @
fo 59 e o1 ST fhaT I & ¢

(A) FRNERE

(B) ATGral

(C) RIS

(D) #RITeR

fafoRed # & @ Gl fasm & foar o

ffoied & ¥ F “wex Wy & Jfdd el
g ?

(A) Verelfeas

(B) Wifdew

(C) WAfHT

(D) Rmaiies
3iEe ESSl WAl &
(A) A ¥

(B) @ I ¥

(C) ©§S ¥

(D) & ¥

Tefife ¥ vead Wew & foR &M vea & ford
foem= & -

(A) fosell @z ¥ 900 fAdio

(B) fwelt @ ¥ 990 fio

(C) fowel =g ¥ 500 Ao

(D) fowell @z ¥ 530 Ao

‘dod SR g W &1 UrHhE 9 & ?
(A) deffed
(B) dffa

25/39
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58. In 400 meters women hurdle race, distance 58.  wigell @ 400 Hex 9En E“[G # gy 9 |
from last hurdle to the finish line is : IO g a6 & ¢ fha 2t 2 ?
(A) 0.762 meter (A) 0.762 Hiex
(B) 0.742 meter )
(C) 0.722 meter (B) 0'7422?_(
(D) 0.786 meter ES))) g;éé .
59. Round robin tournament is also known as : 59. 9e dfeT Q\:ﬁ? o I8 A Ped & ¢
(A) Knock out tournament (A) i® ST THMT
(B) League tournament (B) 'E.ﬂ'rl' E:ﬁﬂr(;\
(C) Combination tournament o
(C) wfiferd g
(D) Challenge tournament
(D) K e
60.  ‘Jules Rimet Cup’ was associated with which ~ 60.  ‘Se& RAe $U' o Wa ¥ Hafer o ?
game ? (A) Bedrd
(B) Hockey ©) frae
(C) Cricket D
(D) Golf (D) P
61.  What is the height of net in the centre in lawn ~ 61. & ¢ § ¢ @1 $IE d= & fha-l 26 & ?
tennis ? (A) 29T
(B) 3 Feet () 4 e
(C) 4 Feet D) 4y B
(D) 4% Feet (D) 4%
62. Blood is always slightly alkaline. The pH of ~ 62. h gl Af\d GRIT Bidl & TAT SHDI pH HH
blood is : BT e
(A) From 7.15t0 7.25 (A) 715 ¥ 7.25 OF
(B) From7to 1 ' '
(C) From7.35 to 7.45 (B) 7% %W
(D) From7to 14 (Q. 1347459
(D) 79 14 T®
63.  In pole vault the distance between uprights ~ 63. &9 &g # FRECH & 419 & g &+ AMRY
should be between : (A) 4.60 9 4.67 Hiex
(A) 4.60 to 4.67 meter (B) 4.50 ¥ 4.57 Bex
(B) 4.50 to 4.57 meter ' '
(C) 4.40 to 4.47 meter () 440 24":7 gaa
(D) 4.30 to 4.37 meter (D) 4.30%4.37
64.  Who donated the Ranji Trophy ? 64. U SOl fhed gRT g # € U ot ?
(A) Raja Ranjeet Singh (A) NToT e g
(B) Raja Karan Singh B) G &% R
(C) Raja Bhupindra Singh E C; G @ngb'
D) Raja Maan Singh .
(D) Raja Maan Sing (D) <7 qM fig
65.  Which of the following Vitamin is water ~ 65. fywfoiRad & ¥ &4 w1 fefe ur # gomeha
soluble ? g7
(A) Vitamin ‘A’ ) fefe T
@ Vima s o) R
s faerfim ¢
(D) Vitamin ‘K’ (©)
(D) faerfis &
25/39 87/107 D-8



The depth of the waves to penetrate injured 66. ST ffecw # Afed &7 W T @ yAw
area in Diapulse Therapy is : &HAT Bl &
(B) 10to 14 cm (B) 10 ¥ 14 Ao
(C) 7to9cm Oy 7 9 Ao
(D) 3toS5cm (©)
(D) 39 5 |HO
The lifetime of white blood cells is : 67. 3dT B BB BT SHAFBIS il ©
(A) 4to 7 days (A) 437
(B) 16to 18 days (B) 16 ¥ 18 feA
(C) 25to 28 days (C) 14 28 =
(D) 30to 33 days (D) 30 ¥ 33 27
Which of the following planes of the body  68. fA=feiRad § ¥ 9 A1 a1 IR & FW g
divides it into upper and lower parts ? foyerer Wl # fford evar 2 2
(A) Sagittal (A) -\Emﬁaa dad
(B) Transverse m
(C) Frontal Eg; a?
D) Vertical e
®) (D) acwa ad
‘Agoge’ in ancient Greece meant : 69. URIM A H 3R Hel el o
(A) Formal system of education (A) 3TaR® R gomel &
(B) Informal system of education (B) TR ReEr yore @
(C) Reading, writing and playing . e
(D) All of the above Eg)) Claﬁj " IR P
70.  Cybex machine is based on the principle of : 70. wgdd F9H foow Rigra W amnia & ?
(A) Isometric (A) A
(B) Isotonic B wqﬁ
(C) Isokinetic EC; TS
(D) None of the above . .
(D) ST A ¥ PIE TEl
71.  Nephron is the unit of : 71.  SBM 3FE ©
(A) Cells (A) DIH DI
(B) Nervous system (B) e T A
(C) Tissue C) TaF &
(D) Kidney ED)) e 2
72.  The term is used for profuse bleeding is called : 72, YgR HEAT ¥ Yo 3 fov 39 = &1 W
(A) Prefusion o S &
(B) Haemorrhage A ;ﬂw
(C) Hypo fusion EB; N
(D) Hypo prefusion
(C) B T
(D) ST HIwger
73.  Name of the first principal of YMCA College 73.  dIZ0UHORN0V0 Bioid G fhfoidd QWFT
of Physical Education, Madras (Chennai) : e (dW78) @ 9UH A BT AM B
(A) P.M. JOSCph (A) T-ﬁOWO \—,.hﬁq;
(C) A.K. Singh (©) Todo Riz
(D) H.C. Buck
(D) TF0H0 95
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74.  In one rescuer, C.P.R. given chest compressions ~ 74. U® Ved PAGd gRI Uh 99 & BI0T03NRO,
to an adult at the what rate per minute ? B W g9 g ¥ W ufy fFe fear o & 2
(A) 60 (A) 60
(B) 80 (B) 80
(C) 100 (C) 100
(D) 40 (D) 40
75.  “Physical education is a part of education that ~ 75. “IRIR® f¥em, Rrn &1 98 v & & 9Rs
develops a person through physical frarmemal @ WRA afd &1 e ava 21" 1=
activities.” This thought is given by : faam fear a7
(A) Brown Well (A) 399 9 B ENI
(B) A.R. Bayman
(C) Nickson & Kajan Eg; %D;T;:ﬁq m?; TEWT
(D) J.P. Thomas (D) S0t o B g
76.  Which is not a type of coordination ? 76.  fy=foied # a9 G990 &1 YR & & ?
(A) Coupling ability (A) T @l e
(B) Reaction ability (B) wfefshar awgar
(D) Short duration method (D) & aafy Ry
77.  InBadminton, if service is done again without 77, Sefied # afe fam el wea @ wfdw SR
any foul, then it is called : B B Al 99 FET I g
(A) Lift (A) foge
(B) High service (B) % Hifw
(C) Back hand ©) ¥ e
(D) Let (D) @
78.  World Health Organisation established on : 78. fdvq WRey HWeR @) XU g‘g‘ off :
(A) 07™ April 1948 A.D. (A) 07 3T 1948 20 3
© O Moy 1955 A, S bt )
S May D
N (C) 01 % 195530 &
(D) 08™ March 1995 A.D. (D) 08 W 1995 20 B
79.  The most reliable measure of variability is : 79. fdged @ wed @ favawig 7w
(A) Arithmetic mean (A) HArFGY 71
(B) Median (B) Ffegar
(C) Mode
(D) Standard Deviation 28 ﬂﬁ%ﬁ
80.  Required ratio of carbohydrate, proteinand fat ~ 80.  ¥NR & fofu amfé wwqfera ameR ¥ drTEEge,
in a balanced diet for a body is : mﬁqwmmmwmaﬁﬁﬁﬁ?
(A) 151:1 (A) 1:1:1
(B) 3:1:2 (B) 3:1:2
(C) 4:2:1 (C) 4:2:1
D) 4:1:1 (D) 4:1:1
81.  The function of ribosome is : 8l. M &1 I &
(A) Growth (A) qﬁg
(B; Respiration (B) ¥aw
(C) Protein synthesis S
(D) Movement (©) SR
(D) Tf
82.  Kohler’s theory of learning deals with : 82. fermH @1 FiRer e fhay gafug & ?
(A) Trial and Error (A) WIS 3R El
(B) Conditioning (B) S
(C) Insightful learning ©) ﬁ_&w SIfoRTH
(D) Transfer of learning .
(D) SfNTH & EwAARYT
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83. Formula for extracting stagger on tract of 400 83. 400 WX B ¢F W WIR Mdre o el %
meters is :
(A) [{w(n—-1)—-10)2n] (A) [{w(n-1)—-10}2n]
(B) [{wn-2)--20}2n] (B) [{fw(n —2) —-20}2n]
©) [fw(n—1)— 10)27] (©) [{w(n—1) - 10}2n]
(D) [{w(n-1)+-10}2n] (D) [{w(n—-1)+-10}2n]
84.  Hypokinetic disease is caused by : 84. ERUIGREARCH AT F BRI & :
(A) Loss of flexibility (A) TdielgT & &4
(B) Inadequate physical activity (B) i IRIRE T
(C) Coronary dys-functioning
(C) BRI gfemar
(D) Bone and muscle weakness D) EE‘@[ o .
85.  School health programme does not include : 85. Yhd Wy HRI%H H fbd wftdferd w81 v ?
(A) Health instruction (A) TR TR 3]71%{[
(B) Health supervision (B) W@y Ty
(C) Health services e ¢
(D) Health research ©) ﬁﬁfﬁ
(D) @Ry FgaHr
86. Starchis: 86. 2
(A) Monosaccharides (A) AFRIBUESH
(B) Disaccharides (B) g@m
(C) Polysaccharides ‘Tm
(D) None of the above Eg)) ; 59 3 T8
87. In which game, Tania Sachdeva is associated? ~ 87.  dIf%3T Hacal foy Wa | w=fad & ?
(A) Golf (A) MeH
(B) Chess (B) sl
(C) Rugby
: (C) I
(D) Badminton D) -
88.  Sports grounds in Sparta were called : 88. el § Wol ASMl B Ped o
(A) Paedo tribes (A) TSI — TI59
(B) Clrypteia (B) et
(C) Platanistas ey
(D) Dedascaleum E[C))) e
89.  Total length of standard swimming pool : 89. HMd W Id & Gl AWTS Bl © :
(A) 60 meter (A) 60 HIX
(B) 50 meter (B) 50 Mex
(C) 80 meter
(D) 100 meter Eg)) ?goﬁﬁa
90. John Dewey propounded the Philosophy of : 90. Wi St 7 forw e & ufdures far ?
(A) Pragmatism (A) TENATG
(B) Naturalism El?fﬁlﬁﬁ
(C) Idealism Eg; amestare
(D) Humanism
(D) HF4dlg
91.  What type of fats are not hazardous to health? ~ 91. ¥ YoR ¥ a0 @R & foRl TGRS T8
(A) Unsaturated g e ?
(B) Poly—saturated Gﬂﬁﬁ
(C) Saturated Eg; ag_-ﬂ‘qq
(D) All of the above © W
(D) I
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92.  ‘Pulmonary Oedema’ is due to the failure of : 92,  foFwah! Tl & HRV ‘Tugw M’ @ Ry yoe
(A) Left side of heart B g ?
(C) Both (A) & (B) ®) <z
(D) None of the above .
(C) T (A) T (B)
(D) SHH 7 ¥ PIg T
93,  Sprain is an injury to : 93. W ACE:
(A) Ligament (A) fore @
(B) Muscle (B) araueh &
(C) Bone
(D) Tissue Eg; ﬁ :;
94.  Suicide bags of the cell is known as : 94.  PIRG I ATHEA B el FeT AT 2 ¢
(A) Golgi body (A) TTeulidr B
(B) Mitochondria (B) WEcIaifgar a1
(C) Lysosomes AEEET
(D) Ribosomes Egg - ;}
95.  The motto of the Asian Games is : 95. TR wai &1 Nigia (7)) T §
(A) Ever upward (A) TR IJUds
(B) Ever onward (B) TR 3ae
(C) Ever forward s
(D) Ever skyward Eg)) g e
96. Who is known as the father of ‘Modern  96. T4l # Gﬂgﬁlﬂ? TRIR® e &1 fiar fossy A
Physical Education’ in Germany ? T g ?
(A) Gut Muts (A) Te—9eH
(B) John Siman . 1‘
(C) Ludwig John (B) 9l o
(D) Johann Bernard Basedow Eg; m@' Iqqg,}m
97.  The game ‘Table-Tennis’ was started from : 97. ‘2gd—cfYg W BT UN®T BT o
(A) America (A) FARET |
(B) China (B) 9 &
(C) Japan C) WOE Y
(D) England ED)) il |
98.  The joint between two parictal bones is called : ~ 98. 2 UiRkda@ &fSsdl & d9 & Sie & Hal ol & -
(A) Parietal suture (A) tRed TR
(B) Lambdoid suture (B) sz TR
(C) Sagittal suture ( C) wehed TR
D) Coronal sutur: '
®) © (D) BRI FR
99.  ‘Cryotherapy’ is also known as : 99. BHERRY B 3@ TH | 9 T A B 7
(A) Hydro therapy (A) ot fafebear
(B) Contrast bath (B) T T4 ave fafte
(C) Paraffin bath Rrfre
(D) None of the above (C) M : ;
(D) 374w # & P T
100. Amylase, Lipase and Trypsin enzymes are 100. THIge, aTEyS ooT e Trorew S B E
produced in : (A) 59 3§
(A) Mouth 3
(B) Stomach (B) STHRTY
(C) Duodenum (C) Tl
(D) Small Intestine (D) &z o= 4
%k kdkdkk
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AV AD

F Ry Rt vd sl ol F fEY UER A oRTaar At € ar shieh ol & WMy g

If there is any mis-match in Hindi & English version, then english version will be acceptable.

" daet Si0THONR0 SR-Tah W Fad Sk W & frE 9 | SN0YH0NRD SER-UD Ul WE-IRaST W BIg
Faifed g 7 T R 7 & 8 W A o AW ford | 7' A e v om0 AR sifva fear A @
o R we @ 1 e ¥ fier a1 o= Rl & geEe @ U &1 v Fen i afvla 21 39 JeR @
PRI T W D 3 ol TR |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

& e &1 (Rough work) W YRadr # € far g |

Rough work is to be done in the Question booklet only.

T g% ¥ B SR g AU TG e TR U6 € g 31 0 YaR W U W Afe W T gl 4 9o
TR T B3 B a1 U9 @ didg e B Teld Scax /AT W |

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

IR : I AN Bl vy &1 uee W@ 41§96 WO

Example: Suppose Q.No. 41 of the subject is as below:

Q.No. 41:  What type of mixture is smoke ? §3ﬁ fr yaR &1 fgor & ?
(A)  Solid mixed with a gas (A) 9 Al e
(B)  Gas mixed with a gas (B) i faf¥a i
(C)  Liquid mixed with a gas (C) w9 faf¥a za
(D) Gas mixed with a liquid and a solid (D) %4 Ud o e i

afe s JFAR $6 9% F W Sk / fddbed (D) B, A ScR-T5F H 0 AT ¥ Wt fava—awg drem we wen
41D T D T DI 39 TOR W |

If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

we fafer Tera fafdy

Correct method Wrong method

OO

(afe e Ry & ff f5df o el o BI% e T T @ 1 9 Sk @ wiY fae Y R & SER Tdd IR A
U U WA 3iF FOeE B 8 )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

T otwhfa @ R w7 @ were @ e 2 5 AR 9% @ we-qRawr § 31 B o o W JRp e
Y el a1 $9e! I 7 o Fles @1 < e e s Sl R 1 w9 s e 3 guRT o 9B |

The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

T gt ¥ e T4 A daecy au1 A SARiG WM O RIS B, GO SRR @1 A e Ui a8

Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.

1. T T A RS 3P BT MIeEH €| TS Tad SaR @ foY % 3G PreT R |
There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.

2 W% YE D A WA W ARG TR A R A A 3T FT WUE 2| 76 0 Tor Iex B A v 3@ Brer arm |
On giving of two or more than two answer for every question, % mark will be deducted.

3. 9 E-GRGT ¥ SO IgeHid SR FoE I (Rough Work) 3 AfiRed 3 7 ford |
Do not write anything except the Roll Number and rough work in this Question booklet.

4. T FIT B TEEG OMR HIE B IR B5d 3 W F A AR dR-R wre wdenf oy @) et s T
o SRR T A T 7 PR v du Al o suee s |

Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.




